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QUESTION 1

Fill in the blank for this next sentence. Flooded traffic received on any in the service is replicated to other
spoke SDPs and SAPs and not transmitted on any mesh SDPs.

A. Spoke SDP

B. Mesh SDP

C. Either (a) or (b) will make this sentence true.
D. Neither (a) nor (b) will make this sentence true.

Correct Answer: B

QUESTION 2

An |-VPLS can be associated with many B-VPLS services.
A. TRUE

B. FALSE

Correct Answer: B

QUESTION 3

The "discard-unknown" command has been enabled at the VPLS level. Which of the following statements is true?
(Choose 2)

A. Broadcast traffic will be flooded.

B. If the unicastSA has not been learned in the FDB, the frame will be dropped.
C. If the unicast DA has not been learned in the FDB, the frame will be dropped.
D. All traffic will be dropped, including multicast and broadcast.

E. Broadcast traffic will be dropped.

Correct Answer: AC

QUESTION 4

Consider a large metro-to-metro VPLS network interconnected with a mesh of mesh-SDPs. Which of the following
statements does NOT apply to this situation?
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A. Bandwidth and replication inefficiency can occur on inter-metro links if there is a lot of multicast traffic
B. The number of control sessions grows exponentially in a fully meshed network.

C. Spanning-tree is required to prevent loops when using mesh SDPs on the inter-metro links.

D. Network touches increase with each node added to the mesh.

Correct Answer: C

QUESTION 5

Which of the following is a function of the data plane that must be considered when provisioning a VPLS service?
A. Number of LSPs.

B. Number of TLDP sessions.

C. Number of SDPs.

D. MAC address consumption in the FDB.

E. Bandwidth and replication requirements.

Correct Answer: E
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